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S Al 17,783,000 | 100.00% ,000 .00% 4,395,000 .83%
SE3 A 17,783,000 | 100.00% ,000 .00% 4,395,000 .83%
JIEtEE3 A 17,783,000 | 100.00% ,000 .00% 4,395,000 .83%
=EHINLSE A 4,052,000 | 22.79% ,000 .08% 25,000 .62%
2sdII=SEAA 2,061,000 | 11.59% ,000 .39% 0 .00%
HASFUFNHFIISE 560,000 3.15% ,000 . 18% 0 .00%
3l A
FUASTAL HEHH D] 1,250,000 7.03% ,000 .34% 0 .00%
=SE3 A
ZII0IEHAIHE AL 300,000 1.69% ,000 . 24% 0 .00%
NEAAANEESA
SSNFAZLEALEZ A 2,450,000 | 13.78% ,000 .30% 0 0.00%
X=ASSE 3 A 4,990,000 | 28.06% ,000 .63% 4,370,000 | 704.84%
JIBFAIE SE 3 580,000 3.26% ,000 .33% 0 0.00%
FHNESZHNEMNSEES A 1,540,000 8.66% ,000 .50% 0 0.00%




